3 7ONY

O»pIY 95w Py, Py Mp1on 1oy 559 v5 onncin AnyIN1 [a,b] yopa nmon f mspna nn .anon L1
S(P)<S(P).
v 75 P,T mipon mnm»p 5" f ayvw 9md 9pw mdd
5(T)=5(P).
T>95

T b o o b
[fwm=gﬂ@sumaﬂm$wﬂ@=[fmm.
a Q a

JPPANOYN 1IN PPN IRV DV NP2 WIND

R PO (VN2 72991) ©IDM D YOPa NYNI g |[_M7M] . M >0 nor "y yopa mon P9 HoeK f .anomn .2
v 70 6 > 0 N8O ) (TYUNnNa AT €1 NAY V19 £ > 0 YO0 Nyo.L > 0 "y yopa NV ooNN

Va,ye[-M,M], |e-yl<d=|g9(z)-g(y)l<e
mM¥IAPN IR IO TY w; = M; —m; DYnY NSV 4N yopa f SV NTINN DX D) yopn Sv P npon 505
G(P,o)={ie{l,...,n}|w; >}
T
B(P,6)={ie{l,...,n}|w; <d}.

0»pn> NNAY 11 NN NINND AN HOPN f DY DN NN e PR NIAY Nyd

n
go > w (f, 1) = ZwiAxi = Z wiAx; + Z wiAx;
i=1 i€ B(IL0) ieG(I1,5)

D»pPM N A9 AN NTINN 0nav B (TI1,5) N¥1apnn oyopn >NN Mo At PMPYn 072NN 0NN KNV ON

o)
0 Z Az; < ZwiAxi < é&g.
1€B(I1,6) i€B
INON
€2
A i < —=
2 Aw < =

O»PN NN W; YII ¢ YOP NN NADINN NTNN NN ,NYD

w(go f,II) = 0 Ax;

n
i=1
i€ B(IL,6) 1€G(IL,6)

2L "y nmon wnn w; 7299 f nnnna LYy nmon g
<2L ZAxi+£1 Z ij

i€B jeG
ON MY M, —my; < €1 M YOPA NHY ¥NIINM N MILP 1PN 1PN DyoPa NTRNN G (P,§) N0 295 5 md
€1 = 575,62 = 2£ AN
17 2(-a)" "2 " 4L

w(gof,H)<2L%2+61 (b-a)

B .7YyoN NN NN 1299 w (g o f,I1) <€ 197



